Lasseube 1 (J. Lasseube 2 (V. Lasseube 3 (T. Buros 1 (S. Idron 2 (M. sets | SCLSEABNES | s
Idron 1 (JB. Lopez) , . | moins sets .| classement
Plante) Combes) hondet) Echeverria) Aubery) gagnés perdus parties
Idron 1 14 10 8 5 9 2
Lasseube 1 10 10 10 1
Lasseube 2 4 -2 7 4
Lasseube 3 6 2 8 3
Buros 1 2 -8 5 6
Idron 2 2 -7 6 5
sets perdus
goal average p. pour m:j Diff.
1/2 finales Idron 1 145 92 53
R1C/ R4 Lasseube 1 150 58 92
R2 C/ R3 Lasseube 2 101 117 -16
finale Lasseube 3 128 103 25
R1 C/ R2 Buros 1 86 167 -81
Idron 2 77 150 -73




